Name Dute Class

) Guided Reading

For use with textbook pages 287-291.

Population Pcatterns

Underline the Correct Word

DIRECTIONS: Read each incomplete sentence and the two answer choices
in parentheses. Underline the word in the parentheses that best completes
the sentence.

1. Europe’s diversity results largely from the mig ratiop of peoples from uround the

world. (migration /colonization)

2. Decades of cthnic tension among Croats, Serbs, Bosnian Muslims, and Kosovar Albanians has

plagued the region of the Baikon s . (Balkans/ Netherlands)

3. sSince World War If, Croats, Serbs, Bosnians, and others lived in the communist-controiled country

of \/UgOS\QVik . (Herzegovina,s Yugoslavia)

4. Serbs carried out a policy ot W&Mi‘g._ which killed or expelled ¢thnic groups trom

) their homelands. (enslavement/ethnic cleansing)

S. Although Europe is the second-smallest continent in size, it has the world’s third largest
—population . (population/mountain)
6. Because so many Europeans live in a relatively small space, Europe has a high population

oensH-\,l . (density /loss)

7. The Industrial Revolution caused a major shift in population from the rural arcas into the

Q.i+l A0 . (north/cities)

8. Two of Europe’s largest urban areas are Paris and Londow . (Stockholm,’ London)

9. The booming economy of the 1930s and 1960s led to MSEA'A.L from other countries.

(urbanization/ immigration)
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10. Despite the influx of new workers, the population of Europe is Sheinking

(stagnant/shrinking)
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